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1)  Write four digits in the boxes. 
     Put one digit in each box. 
 
 

 

 

                    +                    = 56 
 
2)  Write the digits  6,  3,  4,  9 in the boxes. 

     Put one digit in each box. 
 
 
 

 

 

                    +                    = 85 
 
 
3)  Write numbers in the boxes to make the statements true. 
 
 

            –  52  = 38 
 
 
 

 
           ×         = 81 
 
 
4)  Write numbers in the boxes to make the statements true. 
 
 

            ÷  2  = 70 
 
 
 

 
           ×         = 36 
 
 
 

 
    84  ÷          = 21 
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1. Any two numbers that total 56          2. 36 + 49  or  39 + 46       

 

3.   90,   

      1 × 81  or  3 × 27  or  9 × 9                   

 

4. 140,             1 × 36  or  2 × 18  or  3 × 12  or  4 × 9  or  6 × 6,       4 

 

 

 

 

 

 


